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Instructions to students

1. Write your name, admission number and class in the spaces provided above.

2. This paper consists of two section A and B
3. Answer all the questions in section A

4. Answer question 6 and any other two questions from section B
5. All you answer must be written in the spaces provided in this question paper.

6. Candidates should answer the questions in English.

FOR EXAMINER’S USE ONLY.

	Section 
	Question 
	Maximum’s 

Score
	Candidate’s

Score

	A
	1-5
	25
	

	B
	6
	25
	

	
	7
	25
	

	
	9
	25
	

	
	10
	25
	

	100
	
	
	



SECTION A: (25 MARKS)
1. (a) State three characteristics of tropical hard wood trees.                                               (3 marks)

(b) Name two species of indigenous tropical hard wood trees found in Kenya.               (2 marks)
2. (a) Identify two major diseases that affect coffee in Kenya.                                             (2 marks)

(b) State three problems facing coffee farming in Brazil.                                                 (3 marks)
3. (a) Apart from transportation, state one economic use of rivers.                                        (1 mark)

(b) Highlight four physical factors that hinder development of river transport in Africa. 

       (4 marks)
4. (a) Give one major urban centre that developed as a religious town.                                (1 mark)

(b) List four ways in which the functions of Nairobi city are similar to those of New York City.

                  (4 marks)

5. (a) Apart from alluvial mining, state two other methods of surface mining.                  (2 marks)

(b) State three disadvantages of alluvial mining.                                                            (3 marks)

SECTION B: (75 MARKS)

Answer question 6 and any other two questions in this section

6. The data below shows population of country X by age and sex in the year 2012
	AGE GROUP
	MALE (000)
	FEMALE (000)

	0-4
	2,300
	2,400

	5-9
	2,100
	2,200

	10-14
	2,500
	2,600

	15-19
	1,700
	1,800

	20-24
	1,300
	1,500

	25-29
	1,000
	1,100

	30-34
	850
	900

	35-39
	690
	750

	40-44
	524
	600

	45-49
	419
	423

	50-54
	345
	365

	55-59
	225
	220

	60-64
	195
	200

	65-69
	141
	155

	70-74
	119
	130

	75-79
	82
	90

	80+
	100
	120


(a) (i) Name the most suitable method of presenting the above data.                                       (1 mark)
(ii) Using absolute value technique and a scale of 1 cm represents 400,000 people, present the 
     above data using the method named in (a) (i) above.                                                  (12 marks)
(b) (i) State five characteristics of the population structure of country X as depicted by statistical  

     technique drawn in (a) (ii) above.                                                                             (5 marks)

(ii) State two demerits of using the statistical technique in (a) (ii) to represent population data.

      (2 marks)

(c) List five factors that have led to low fertility among the population in Sweden.            (5 marks)
7. (a) The following diagrams represent some fishing methods used in East Africa
(i) Name the fishing methods labeled X and Y.                                                       (1 mark)

(ii) Describe how fish are caught using the method labeled X.                                (4 marks)

               (b) Explain three ways in which fishing contributes to Kenyan economy.                   (6 marks)

               (c) Explain four reasons why Japan has a higher fish catch than Kenya.                    (8 marks)

              (d) Explain how the following methods are used in conservation of fisheries.             (2 marks)
               (i) International agreement on territorial waters.        



      (2 marks)                                                

               (ii) Fish farming 








       (3 marks)
8. (a) (i) What is unfavourable balance of trade?                                                                   (2 marks)

     (ii) Outline five measures a country can adopt to reduce unfavourable balance of trade. 
       (5 marks)
(b) Explain five benefits that Kenya derives from participating in international trade.   (10 marks)

(c) (i) State three non-agricultural exports from Kenya.                                                  (3 marks)

     (ii) State five problems facing the developing countries in international trade.          (5 marks)
9. (a) (i) What is an environmental hazard?  





       (1 mark)

      (ii) Apart from floods, list three other environmental hazards.                                   (3 marks)

(b) Explain four ways in which air pollution affects the environment.                        (8 marks)

(c) Describe four incidents that may lead to noise pollution in urban areas.                  (8 marks)

(d) Students from Musingu carried out a field study on floods at Kano plains

 (i)  State two objectives for their study.                                                                          (2 marks)

(ii) State three ways in which residents of Kano plains are affected by floods that the students 
      observed. 









      (3 marks)
10. (a) (i) Name three counties in Kenya where maize is grown for commercial purposes. 

    (3 marks)

     (ii) State five physical conditions necessary for the growing of maize.                    (5 marks)

(b) Describe the commercial production of maize from planting to the time its ready for use 
     (8 marks)

(c) State five problems facing maize farmers in Kenya.                                                 (5 marks)

(d) Apart from human consumption as food, give four other uses of maize.                  (4 marks)
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